Midtervn 3 Rontiem

o swrld odtpnpt those quastions vwing ondy o ogporten
Shaok oF ez 3. No calowlats ov obrer vesoures alloweol.
D) Sek wp o 4rigle Wagral 4o -bord e velume
oo .(‘,l,(mvs s Wi Rt octnud
beundad e %\}\Mo/ z=siny, awd,
dhed V\‘j‘“m. plomas y=x avd =0

Hitndk : lv\h:a»m-(z v e oolor oz dx dﬂ-

72— LB:2=0

UB: z=stny
3A
294‘\“532 .5\‘1\3 =0
- : 1= 0 2=0 =
e [ — $AT
VB =4y x-18 xR
5
Y-18-4=0 !\—LB -
UB ‘.3 :'\T

. [Vl =S: S\z Si*"ﬂ 1 JZ.olf(o!\us




Z) S’e)cw() o ride M&o‘ml W S?Mml corrdAvodes
W et He voume o-he vre ot
rﬁ\"k/ bounded by e 9’1}’“&"9"‘3 $-% ond z=4
Hink: \nbegode i emdor dodgd§.

Lk
p-16-5=0 4
UB* p= b= 4sec
(heP=%
$-16: ¢>0 D h zhsuep
08 §-%
6-18- 6=0
06:6~21

o el = Sgg 1 i\i
=j>"stm(]5 dgulsﬁaw

:SZ: S: g:ﬁﬁfms oleIqSDLe




3) Sekup adewble witgak 4 ovalwde e flleigg webigend
. _ L 42
SSK 2y dh - Rs i“'@’ :téjé‘f-{‘&—g

Ak r=2w
W CJIW 6+ v o2 ijcé-\ﬂ'hlb
VA

200 @

S

e =@ > U
l

%"2[[{ M=-?!:x1
Y =42 V= g y-2u)= £(y-x)

C0,0) <— (o)

(1,0) <—(@) 0<Lu &\
(1,2)&—(2,10) o= %N‘V)' 0—‘*"&2§

(0,2 (0d)
L Ly 2 0
T(' pt = = — =
Uy ) . 4y 2 4 §-0 = §
5852 dn ,ﬂ 2 |Su|dudy :yg‘@u?m:m)-\g\ A oly
R 3 S ' o Vo .




&) Lok € e fr orioded pordbola PLE)= {4t 47D B 04641
Lok B =L eyy> e 0 vecor Reld acnss €. Gomupute®
8) e croksdoom ot BonC

b) — Sux

% Girudobion = Sc 2.7 dt

= [ <4 e>ecant> dt

\
= egedde =

vl-=

\)

lo) e = 5‘6 E -QQ';"IS m

S; it D <%, -4 dk

= l & 2
SD g'E’A“E A‘& = .- = —‘éa_




5) lg ?=<z,\.'f—> censervsbie 7 1E 90, M&WMW-
fal
3

%‘—‘0 = O«
Lol=h = | Consenvete -
2=l 7 N

%7. =0 = "\3

?"‘: <P‘L, @3,@7_> =2, x>

Quryz) = [zde = 22 + §0y2)
> @, - 016 =|

> Glum)= Jldy= wtlie)
S0 -2rbyt He)

3 Q, - Xk0tHE) =%

> K& =0 R
S M) = Jodz = k=0

..e (P(.’C(Slzy = 21‘3(5"\' 0 = Z‘L{'ﬂ




o
L) Cowpriz §€—33 dy - 32de, whore T 5 e brurday
TP :w-‘,,,%)a wilh verbus (0,00, Cyp)yamd (0,2,
orienkzd cruntor thdemiee .

Ay Crvaprls cAvonkadoion Lremn wrtin

-1::'33
4=3=.
2 Crwjo&\m'\ = SS'Q ﬂt—% dA
= SSK 343 dA
‘ = §0, 144
vV r—
:ANZDLG'P'K

= px(arv2) = [6




7) Let ?=<Z’,§05\3.%2) J{‘z>“ C”'“‘f“"bz’:

®) dav P
D wd ?

) -the chvevgonce ot url B

B B = betgyth,
=| tosw ARAREY

b UxF = R T T I e

=<0-0,0-2, D+xany)

=Ko ,—z,ns?n5>_

C) V- (UxF) s W Ol




